PAY LIMIT = 65'-25"

_— | 29'-1 1§" 23'-1 Og" -
"5 '5 (TYP)_> G" §u , .
ABUTMENT 3 ..EL X ABUTMENT
9_u
16 —=! |=— NORTH WALL FACING NORTH, SOUTH WALL SIMILAR
(TYP) 6'-8" —6 SPACES @ 6'-7" = 39'-6" - 6'-8"
$5/8” x 13 THREADED STUD,
W/ (2> HEAVY HEX NUTS,
<1> PLAIN HARDENED WASHER,
(D LOCK WASHER _ ) BILL OF MATERIAL
- g ANCHOR PLATES ofbs TP 8"
ITEM #| QTY PART # DESCRIPTION ASTM DESIGNATION
o bl 3 — -
H 'Q.S' w Lo 16 1 18 0033.90017 |TwWO RAIL POST & BASE PLATE ASSEMBLY AS72 Gr. S0, AS00 Gr. B
_”_8, l— _J E 6 2 2 0033,91287 [4* X 3" X 1/4” RAIL @ 29'-11 1/2" W/ END PLATES AS00 Gr. B
o 6" 48' 2 r ] i) 3 2 003391288 |4 X 3* X 1/4” RAIL @ 23'-10 1/8" W/ END PLATES AS00 Gr. B
10" g lé’ 2 on —O 0\ 4 2 0033.91289 |2" X 2" X 1/8" RAIL @ 29'-11 1/2° W/ END PLATES AS00 Gr. B
g [ — ., \@En (4%) S 2 003391290 [2" X 2" X 1/8* RAIL @ 23'-10 1/8” W/ END PLATES AS00 Gr. B
2 H & -d}——L 2} 8 16 6 2__ [0033.90069 [1-1/2" X 1-1/2° FIX. SPL BAR @ 2’ 4 AS72 Gr. 50
I ! 10 L o o 7 2 0033.90071 [2-1/4" X 3-1/4" FIX, SPL. BAR @ 2’ 4* AS72 Gr. S0
ANCHORAGE DETAIL lé’——l | L ) 8 36 0033.00295 |3/8" X 2 1/4" X 7 3/8’ ANCHOR PLATES A36
1 55. \-R%“ Typ. 9 74% 10042.05813 [¢ S5/8” X 13* ANCHOR STUDS A449
v - ’ 10 146% 1008015901 |2 5/8” HEAVY HEX NUTS AS63
73 4 Elastomeric Pad 11 72___0080.15911 |# 5/8" FLAT WASHERS F436
12 72 0080.15920 [# S5/8” LOCK WASHERS ASME D18.2
13 18 0080.05565 [# 5/8” X 7 1/2" SLOTTED, ROUND HEAD BOLT, NUT, F.W.,, & L.W.|A449, AS63, F436, & ASME Di8.2
14 18 0080.06410 [# 374" X 8 1/2° SLOTTED, ROUND HEAD BOLT, NUT, F.W.,, & L.W.|A449, AS63, F436, & ASME Di8.2
1o , , 15 8 0080.05275 |# 5/8” X 3” HEX BOLT, NUT, F.W.,, & LW. A3235, AS63, F436, & ASME DI8.2
7 2 Eé —I- T — 16 8 0080.07330 [ 7/8° X S5 1/2” HEX BOLT, NUT, F.W,, & LW, A325, AS63, F436, & ASME Di8.2
-—-GE" I , 17 18 0033.90068 |1/8* ELASTOMERIC PAD D2240
ar _EL 3%’ WPS 3006 ” 18 2 0033.40375 |APPROACH, END WALL CONNECTORS PER BOM
”2 _I_ Ve 19 2 0033.40376 |TRAILING, END WALL CONNECTORS PER BOM
QL"'EW 1r—— 136"”‘ 20 3 DELINEATORS (SUPPLIED BY F.R._LaFAYETTE) ALUMINUM
16
I L g8 (4 Welded to 4'x3* Tube x—2 EXTRA FOR VOAT TESTING
331|_6" : 4 -_$/ 16
o | 65" i 137 p .
10 g 1|6 ] T g % J:% 1% i WPS 3006
. it oo of oW
-
\ ) " 13- END OF RAIL DETAIL HARDWARE NOTES
4 R7" Welded to 2°x2° Tube ITEM # FUNCTION
ON BASEPLATE 5 13 |BOLT BOTTOM RAIL TD POST CITEM #D
5/16°x3-5/8"x3-5/8" CAP- Su o 11 14 BOLT TOP RAIL TO POST <ITEM #1)
=" FRONT NOTES:
VPSS \ 3 _4 16 ——=—— | ALL WORK AND MATERIALS SHALL CONFORM TO SECTION 525, 15 IBOLT BOTTOM SPLICE BARS CITEM #6) TO BOTTOM RAIL
T i [4 & WALL ONLY g :E{UI‘«;DTSE.II_ SGASh\gﬁEIZ'ggGS ET'IHEN E?R’SSESB‘:'-DEDGI;,EDSJ' GRIND ALL EDGES TO A MINIMUM RADIUS OF 1/16%. 16 [BOLT TOP SPLICE BARS CITEM #7) TO TOP RAIL
S '_+($l 4. SECTIONS OF RAIL TUBE SHALL BE ATTACHED TO A MINIMUM OF TWO BRIDGE POSTS AND PREFERABLY TO AT LEAST 4 POSTS.
| | 87/8° x 2 | S. HOLES IN RAILS FOR TUBE ATTACHMENT, WILL BE SHOP-DRILLED. HOLES SHALL BE COATED WITH AN APPROVED ZINC-RICH
| | SLAT THRU | PAINT PRIOR TO INSTALLATION. ITEM #:525.45 | SHEET 1 oF 3
HSS 4731/ 4"— " an | | 6. BOLTS SHALL BE TORQUED SNUG TIGHT CAPPROXIMATELY 100 FT-LB), . :
| | E | | 7. RAIL TUBES SHALEL Tla% EATTACHED USING FULL DIAMETER BODY ASTM A449 (TYPE I> ROUND HEAD BOLTS INSERTED THROUGH STRUCTURAL STEEL TO B R[DGE R A ]L D ET A ]L S SHEET
113 o 2ix1/8" L. THE FACE OF THI .
1-4g2" HSS anani/e—y | 1-6 | I 8. SEE STANDARD DRAWING G-I FOR DETAILS OF DELINEATORS. A DELINEATOR SHALL BE INSTALLED AT 30 FOOT SPACING OR COMPLY W/ ASTM A6 CHIGKEN FARM ROAD (T.H. 16) GLASS 3 LOGAL ROAD, BRIDGE # 36
1 THE NEAREST POST. WHITE IS TO BE INSTALLED ON THE DRIVER'S RIGHT. FOR ONE WAY BRIDGES, YELLOW IS TO BE
# + ] oF x17/8 E==4 INSTALLED ON THE DRIVER'S LEFT. PAYMENT FOR DELINEATORS IﬁH?_I'__‘IE EENITNRCAIgENngNgDIETNHEﬁEI{ngSﬁECIFIED 1T SHALL TOWN OF CORINTH, ORANGE COUNTY
- 9. AESTHETIC TREATMENT TYPE SHALL BE APPLIED AS SPECIFIED )
: : Ju SLOT THRY : : NOT BE USED, AESTHETIC TREATMENT DETAILED DN THIS SHEET MAY ALSD BE APPLIED ON THE FASCIA SIDE OF THE RAIL, B?.h?;wgg Hg‘{:&gs DATE DESCRIPTION 8Y E NO.| DATE DESCRIPTION _ | BY|
WPS 3025 IF SPECIFIED IN THE CONTRACT PLANS, :
e | | | ] 10, BRIDGE RAILING SHALL HAVE A RUBBED FINISH IN ACCORDANCE WITH SECTION 501, FRACTIONS = * 1/16" v
) TR el 1, THIS RAILING MEETS THE REQUIREMENTS FOR A NCHRP REPORT 350 TL-4 SERVICE LEVEL, I DRAWN =F VIV
T N R 1 L W 11 12. HOLES FOR MOUNTING DELINEATORS TO BE FIELD DRILLED. HOLES SHALL BE CUATED WITH AN APPROVED ZINC-RICH PAINT ANGLES = £ 1/2° i ES&CERTIFIED S
3v] AR PRIOR TO INSTALLATION. DIAMETERS = + 1/32” ELDERLEE,INC. Y <FARRICATOR|| CHECKED | D.L. 11/25/14
4 3 LASTOMERIC PAD 13. ALL STEEL COMPONENTS SHALL BE COATED BLACK IN ACCORDANCE WITH ASTM D7803 FOLLOWING GALVANIZING. 0AKS CORNERS, NEW YORK 14578 APPROVED | . .
E-Mail: dlong®@elderlee.com / epeek@elderlee.com SCALE SCHEMATIC
Tel:315-789-6670 Faz:315—789-6615 DRAWING NO.FRL- CORINTH




$15/16” THRU TUBE & SPLICE BAR,
@7/8"X3 172" HEX BOLT & NUT,
W/ (1> PLAIN HARDENED WASHER &
(1> LOCK WASHER (4 PLACES)

[
|

|

1€

|

|

|

|

|

I

A1
N
07|S° |

! I
T
7
O
IS
X
)
X
X
N
_
.

T
[
I
il
N
I
[
ﬂl
|
|
||
|
T
|
I
1
I
|
|
— A

T e T _e

1/4"%x45°

1 |_2|| 1 |_2"

@11/16” THRU TUBE & SPLICE BAR,
25/8"X3” HEX BUOLT & NUT,

W/ (10 PLAIN HARDENED WASHER &
(1> LOCK WASHER (4 PLACES)

I " I " " ‘ " \ 1/4"x45°
—5"— 4Z 4Z —5 ! X

TOP RAIL FIXED SPLICE DETAIL

4"

TYP,

TYP.

31"

ITEM_#: 525.45

| SHEET 2 OF 3

STRUCTURAL STEEL TO
COMPLY W/ ASTM A6

TOLERANCE
OTHERWISE

FRACTIONS
ANGLES =
DIAMETERS

UNLESS
NOTED:

+

+ 1/16"
1/2°
+ 1/32"

BRIDGE RAIL DETAILS SHEET

CHICKEN FARM ROAD (T.H. 16) CLASS 3 LOCAL ROAD, BRIDGE # 36
TOWN OF CORINTH, ORANGE COUNTY

DATE DESCRIPTION BY| R |NO.| DATE DESCRIPTION

BY]|

E

\
sé]‘ﬁ; SCERTITIEDIL_DRAWN EP. 11/24/14
A ELDERLEE,INC. Ly ZFABRICATOR| E;I:R%l;ig D.L. .
QY OAKS CORNERS, NEW YORK 14518

E-Mail: dlong@eclderlee.com / epeck@elderlee.com SCALE SCHEMATIC

Tel:315-789-6670 Fax:315~789-6615 DRAWING NO.FR L - CORINTH




BILL OF MATERIALS

ITEM #|QTY DESCRIPTION ASTM #
1 1 DBL TUBE WALL PLATE - 1* X 12° x 25’ ASTM AS72 Gr. S0
2 12 $3/4” X 8” STUD 7O BE PURCHASED
3 2 S5’ X 5" X 5/16” TUBE W/ SLOTS @ 187 ASTM AS00 Gr. B
4 2 SHIM PL 1/2” X 4 X 17 W/ SLOTS ASTM A36(ASTM A709 Gr. 36)CVN
S 2 SHIM PL 1/2° X 4" X 17* (W/0 SLOTS ASTM A36CASTM A709 Gr. 36)CVN

TYP.>?|—;@
wPS 3019 / 5/16°

WPS 3037 Tvp
174" |/ 2-7"

1 l_6ll

CITEM # 18>

eX (REF)

PROTRUSIONS CAUSED BY WELDING OR
GALVANIZING ARE NOT PERMITTED ON THE
SPLICE TUBES AND FILL PLATES

' lu
1 '22

1 l_6§ll

1-105"

2!_1 "

REF.

21" GALV. HDLE/

PROTRUSIONS CAUSED BY WELDING OR
GALVANIZING ARE NOT PERMITTED ON THE
SPLICE TUBES AND FILL PLATES

BILL OF MATERIALS
ITEM #|QTY DESCRIPTION ASTM #
1 1 DBL TUBE WALL PLATE - 1" X 12" x 25 ASTM A572 Gr. 50
2 12 $3/4” X 8" STUD TO BE PURCHASED
3 2 5 X 5" X 5/16” TUBE W/ SLOTS @ 18 ASTM AS00 Gr. B
4 2 SHIM PL 172" X 4" X 17" W/ SLOTS ASTM A36(ASTM A709 Gr. 36)CVN
5 2 SHIM PL 1/2" X 4" X 17° (W/0 SLOTSY ASTM A36(ASTM A709 Gr. 36)CVN

¢1ll

2!_1!!

REF.

101"

1 |_2_2_||

¥ A

4
—4 —-|—4 —|—4
—— + +
+ +

1 1n 1
1 '62

' lll
1 -102

ITEM #: 525.45

x 47

1//

SLOT, TOP
& BOTTOM

b 2_“

IIL "

::_TB.

“LEF

T / TRAILING”

NWPS 3037

GALV. HOLE
X (REF

1" 1"
I v |— 5" TYP, 1, 3/4" x 8
|V [ 4 4 [=s/ammase 2 —i-3 STUD <12X)
T (1 A 2XREP =
6%“ _'__ + +

._L_ + =+ _;I__ lll
4 Ve il

CITEM # 19

| SHEET 3 oF 3

STRUCTURAL STEEL TO
COMPLY W/ ASTM A6

TOLERANCE UNLESS
OTHERWISE NOTED:

FRACTIONS = & 1/16”
ANGLES = £ 1/2°
DIAMETERS = + 1/32”

BRIDGE RAIL DETAILS SHEET

CHICKEN FARM ROAD (T.H. 16) CLASS 3 LOCAL ROAD, BRIDGE # 36
TOWN OF CORINTH, ORANGE COUNTY

Q
E—-Mail: dlong®@elderlee.com / epeck@elderlee.com
Tel:3165—-789-6670 Fax:316—-789-6615

RINO. [ DATE DESCRIPTION BY R NO.| DATE DESCRIPTION BY
E
\
TlFIE DRAWN E.P. 11/24/14
r RICATOR|| CHECKED | D.L. .

APPROVED

SCALE | SGHEMATIC

DRAWING NO.FRL - CORINTH




